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> d <- read.csv("dl.csv")

> head(d)

id pot f£

1 1 AC 6
2 2 AC 3
3 3 AC19
4 4 AC b
5 5 AC O
6 6 AC19
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GLM: 000O0O0O0ODOOODOOO

> summary(glm(y ~ f, data = d, family = poisson))

@
Coefficients:
Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.8931 0.0549 34.49 < 2e-16
fT -0.4115 0.0869 -4.73 2.2e-06
L@)...

e J0UODOOD (f)DODDOUODODDOOO?
e AICOUOODDOODOOUOODOODOOOO
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> library(glmmML)
> summary(glmmML(y ~ f, data = d, family = poisson,
+ cluster = id))
L@
coef se(coef) z Pr(>lzl)

(Intercept) 1.351 0.192 7.05 1.8e-12
fT -0.737 0.280 -2.63 8.4e-03

L@)...
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e JOUODOODUDODUDODO?
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000 +000000000000000 BUGS code (1)

model
{
for (i in 1:N.sample) {
Y[i] ~ dpois(lambdalil)
log(lambdal[il) <- a + b * F[i] + r[i] + rp[Pot[il]
}
# J000000000000000OO

e JODDDOOOO fe{c,T}O00D00ODO FI[ilO 0, 10000
oo

e Pot[i]l] U 1, 2, Llooooobooboooobooboon
Ooboooooo rpl... ] 00000ODO
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000 +000000000000000 BUGS code (2)

# J00o0oooooon
a ~ dnorm(0, 1.0E-4) # OO
b ~ dnorm(0, 1.0E-4) # DO OO0
for (i in 1:N.sample) {
r[i] = dnorm(0, taul1]) # 00O
}
for (j in 1:N.pot) {
rp[j]l ~ dnorm(0, tau[2]) # OOOO0O (DOOOO)
}
for (k in 1:N.tau) {
taulk] <- 1.0 / (sigmalk] * sigmalk]) # 00000 OO0OOOOO
sigmal[k] ~ dunif (O, 1.0E+4)

}
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WinBUGS 00D O0O0O0O0OO0OOOROOODOO

blic_htnl/stat/ivanamibook/fig/hbn/nested/model .bug. txt", fit using WinBUGS, 3 chains, each with 51000 itera

80% interval for each chain R-hat medians and 80% intervals
AT BT s g
betal
beta2 —
S} -
o betal 15%
:
01
beta2 \
1
2
10
s
2 Xl
oi. RG] W“(H“ g
2
47 1234567891012 14 16 182022 24 26 B 0 2 U B W 40
.
2
O%H i H i
-2 lleSEYlllﬂ
I'D
1

1 1.5 2+

-2
* array trunc ted for lack of space
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a

b
sigmal[1]
R D

A
HI

T T T T T
0 200 400 600 800 1000 4 3210 1 2
Iterations N'=1000 Bandwidth = 0.149

mean sd 2.5% 25% 50% 75%
1.501 0.529 0.482 1.157 1.493 1.852
-1.016 0.706 -2.436 -1.476 -0.993 -0.565
1.020 0.114 0.822 0.939 1.014 1.089

oboobooobooobOoobooboooooon
booooboooobOobooooboon

97.5% Rh
2.565 1.0
0.395 1.0
1.265 1.0
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O00000: 0000000 global parameter O local parameter
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RTEDEER:. BRI TN FEDEROMU?

AEH R A1 X SFROFH (am) SROGERZE
() %47 1EE 2EE 188 288 188 288

A T 55 51 15136 157.27 294 2.98
B T 53 49 151.56 156.83  3.07 3.14
C C 55 53 15222 157.08  3.20 321
D T 53 52 153.09 156.00 2.65 2.64
E T 58 55 153.22 157.24  3.07 3.03
F © 55 53 15331 157.22 310 313
G © 58 53 15298 157.81 249 2.45
H C 59 57 153.27 15895  3.08 3.06
| T 56 51 152.67 156.82  2.82 2.92
J C 56 50 15537 16171 310 321

RS TT T (%ﬁﬂ) :Ar Bl
-fers7 C (B\) C, F

MBERE f=1 OEDORR(L 0!
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“00000”

(paired) 000000

MBEATNFEOBROMBU?

REH e BEYa1 X BROTY (cm) BROFERE
(8) %47 1EHEB 288 1EEB 2BEB 1EHE 2EB
A T 55 51 151.36 157.27 294 2.98
B T 53 49 151.56 156.83  3.07 3.14
C C 55 53 15222 157.08  3.20 321
D T 53 52 153.09 156.00 2.65 2.64
E T 58 55 153.22 157.24  3.07 3.03
F C 55 53 15331 157.22 310 3.13
G C 58 53 15298 157.81  2.49 2.45
H C 59 57 153.27 15895  3.08 3.06
| T 56 51 152.67 156.82  2.82 292

J C 56 50 15537 16171  3.10 321
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A X7 GLM: bad model 1

AEH R BAYA X BROTYH (am) SRORERE
(8) ¥47 1EB 288 1EE 288 1EEB 2E88
A T 55 51 15136 157.27 294 2.98
B T 53 49 151.56 156.83  3.07 314
C C 55 53 15222 157.08  3.20 321
D T 53 52 153.09 156.00 2.65 2.64
E T 58 55 153.22 157.24  3.07 3.03
F © 55 53 15331 157.22 310 313
G © 58 53 15298 157.81 249 2.45
H C 59 57 153.27 15895  3.08 3.06

| T 56 51 152.67 156.82  2.82 2.92

J C 56 50 15537 16171 310 321

(F) fit < glm(y ~ t + t:f,

BIELEE . t
BB f
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